()| e GV T ()] gy [P GeV T

dM(tt)d|y(tt)] dM(tt)d|y(tt)]

300 < M(tt) < 450 GeV
0.0-0.2 473+ 4 431 1.0-1.2 323+ 4 +£+23
0.2-0.4 460+ 4 +30 1.2-14 282+ 4 +21
0.4-0.6 414+ 4 +£29 1.4-1.6 238+ 4 +19
0.6-0.8 420+ 4 +£29 1.6-24 128+ 3 £13
0.8-1.0 379 £ 4 £+27 —

450 < M(tt) < 625GeV
0.0-0.2 379 £ 3 £27 1.0-1.2 229+ 3 £20
0.2-0.4 368+ 3 +26 1.2-14 194+ 3 +17
0.4-0.6 344+ 3 £26 1.4-1.6 151+ 3 =£16
0.6-0.8 310 3 £26 1.6-2.4 603+ 1.8 £83
0.8-1.0 275+ 3 +22 —

625 < M(tt) < 850 GeV
0.0-0.2 113.6 = 1.6 +9.5 1.0-1.2 588+ 1.5 £5.6
0.2-0.4 1082+ 15 +74 1.2-14 437+ 15 +42
0.4-0.6 9994+ 1.6 8.6 1.4-1.6 3004+ 1.6 £33
0.6-0.8 889+ 1.6 £73 1.6-2.4 96+ 0.7 +£13
0.8-1.0 757+ 16 £5.7 —

850 < M(tt) < 2000 GeV
0.0-0.2 9.21 £0.21 £0.77 0.8-1.0 5.00 £ 0.22 +£0.54
0.2-0.4 9.36 - 0.23 £ 0.85 1.0-1.2 427 + 024 +£045
0.4-0.6 8.39 £0.23 £ 0.74 1.2-14 271 £ 0.22 £0.58

0.6-0.8 6.94 £+ 0.23 £ 0.59 1.4-24 0.433 £+ 0.057 £ 0.091



